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In Exercises 1 -5 , Determine which of the following sets is a function . if it is a
function ,what is its domain and range ? Explain your reason for any that do not
define a function .

s lad Al cil 1l (function ) s S8 A8V Gle ganall (o gl 23a 5 — 1 o jlaill b
Sl s Ld Al (S5l o)y (range ) W 4 Ly ( domain ) Lllss

1. f = { (2;3); (3,3), (_2;3), (1,3), (0,3) } ala
Domain={2,3,-2,1,0,}={-2,0,1,2,3 } , range={3}

Y LR G el i i 815 58 U e e e i e salall
SIS i g el S 13 Y]

2. g={ (5,1),(2,2),(- 1.5,2), (5,3) ,(1,7) }

G pains Jasi e Ji (s34l (e din g peainn Jasi e Gl Jlaall (B Y 5 eaiall Y Al il
3 51 L ol e opalisg

3. h={(1,1),(2,2),(3,3),(4,4),(5,5) Al
Domain=range={1,2,3,4,5}
4. k=1[(4,0),(4,-1),(4,4),(4,2),(4,3) }

Lii e di sl (e dn g peains hasi e Gl Jlaall 33 4 aagl) i) GY Ay Cad
A4l al sadl JS jealing

5. u={(2,1),(1,2) } 4

Domain={2,1}={1,2 }=range

In Exercises 6 — 10 ,Determine which of the following diagrams represent a
function . Explain your reason for any that do not define a function .

o (S Al oy . (function ) Al Jiai 45V bl agu M) e gl 2 10— 6 Gl i
el sa Lad



function

Function

Not function

Onilide (g peainy Tadi ) Legia JS 4 53 G peainll (Y Ay



not function

Function
domain Jaall 8 sdll 9 yuaiall (Y A1y Casd

range el & (pilide G painy basi e

In Exercises 11 —18, Determine which of the following define a function in
terms of the independent variable x .. Explain your reason for any that do not
define a function .

X Joiall yuaial) AV de\qg_'qﬂ‘éjgl.ugghh 18 — 11 u.IJLA.Ij“Sﬁ

Sl L Al S5 o

4
11. 4x -5y =20 ,-5y=20—-4x ,y = gx—4 is function

7
12. 3y —7x =21, 3y=7x+121, y = §x+7isfunction

13. x2—y=1, y=x*-1, is function

14. x—y* =1, y?=x-—1,y=+Vx—1 not function



Because , for example ,Two values are assigned to the number 5

¥
.
b

x=5  y=+V5-1=+Vd=+2
5-(2)*=5-4=1, 5-(-2)*=5-4=1

)Lg\ -2 5 2 Lea adl (e pualide (o patey hasi  domain d\;ﬂ\‘;gﬁ\S‘)‘a&d\diggi
(5:-2))(512

15. x+y?> =10,y =10 —x, y = +V10 — x not function
Because , for example ,Two values are assigned to the number 6

x=6,y=+V10—6 = +/4 =42 , (6,2)and (6,—2)

1
x—4

16. xy—4y =1, y(x—4)=1, y=

is function if x # 4 ,domain = (—00,4) U (4, )

x+7

17. xy+y—x=7, y(x+1)=x+7,y=x+1

is function if x # —1 ,domain = (—o,—1) U (=1, o)
18. x2+y* =25, y*=25-—x%, y=+425-—x2
x=0,y=45,(05), (0,-5)

Not function. Because , for example ,Two values are assigned to the number 0

In Exercises 19 — 26 find the numerical value of the function at the given value
ofa.

- @ 222l sUaxal) dal) die AN dpanell dagdll aa ol 26 — 19 el 8
19. f(x) =V3 ,a=v5,-2 ,f(V5) =V3,f(-2) =3
20. f(x)=2x3-3,a=1,-2,f(1)=2(1)*-3=2-3=-1

f(=2)=2(-2)>-3=-16—3=—19



2. f{x) =1—-x+x3,a=0,-1,f(00=1-0+0=1

f-D)=1--D+(-1D3=1+1-1=1

22. g()=12—-tl,a=2, g2)=1]2-2]=0

)3 ()_1 _21 (2)_1 <1>_1_1_1_12_2
JW=a=25, J@=g50g)=1=177= 117
2
C cb
b
1
24.g(x)=\/§,a=4,£, g4) =V4=2
<1>_ 1_1
9\25)~ |25 ° &
Foft e
—_ = — (s
b b

1
25. g() =3t ,a=27,—= , g@7N=3V27=3/33=3

3x?2—4x—1

2x24+5x—3 "’
3(=1)2—4(-1)—=1 3+4-1 6

9D =3 rr5(-) -3 ~2-5-3_ 6

26. g(x) = a= —1,

= -1



In exercises 27 — 41 find the domain of each function
Al S Jlas aa gl 41 — 27 ol i

Cilalie 2 59 Vg ariall (5903 dan gy Hsda Al 8o 0 Y S 1Y) ilsall (e g 5 120 (Jia (8
ol Al Jae V) aea 8 domain Jiaall (18 4 se dagaia slac] Gl prdiall (g sa3

Dy = (— 0,00 ) = {x:x is real number} = all real numbers

27. f(x) =x3—4x+1 , Df = all real numbers

28. f(x) =x® —V2x3—-7x+5, D¢ = all real numbers

29. k(x) =1+4+x3,for —2<x<8,Dp,=-2<x<8
Dy =[-2,8]
el g ana Jlaall ia

30. f(x) =2x—3x> ,for x<4, Df=(—00,4)

31. f(x) = 3{/2x2 —3x+1 ,Df = all real numbers

1
32. f(x)=V1-7x , 1-7x=0, 1=>7x ,72x

<1 D ( 1]
— — — 00 —
Y7 T 7



1
x—5

33. f(x) = , x—5>0, x>5, D= (5,%)

34, f(x)=&1_4 x>0, Vx—4=0, Vx=4,x =16

0<x,x#16 ,D; =[0,16) U (16,%)

2x+1
x+2

35. f(x) =
Jal oyt yha Ll @l ) Jals alia s dave Loal Y1

201 8 oy ol (a5 e s il sl Jonll G S s (151
e ST il s e of sy () Lghe JlAG5 58 S Coyad Cun Gl i GO ) Agaal)

1
2x+1=0,x=—§ , x+2=0, X =—-2

3yl o il
(—,=2)
@ dall Cni g Anriy - 3 aaell e 230

2x+1 2(-3)+1 —-64+41 -5 5
x+2 —3+2 -1 -1 1

domain Jaall (saa & GlA Cslhaall (§8a 5 il o2




3l

5 1
(_ '_E]

Gl Y Ol g aladl Wl jiall 5 sban o)) Sy Jawadl (Y Caial (il ddell die 3] glusall aaY
Sead Y haall e daddl Y el

@ dall Cnd L dumgriy - 1 2aall Lgie 22l

2x+1 2(-1)+1 -2+4+1 -1
x+2  —-1+2 41 1
Al e dae 56 ol can Al Cnd e o sa g o glhaall 3883 Y 5 ) oda

domain Jaall feca Gl 5 yiall oda 1))

5 Y 3l Gyl

= -1<0

@ ol e dmgrig 1 22l Lgie 230

2x+1  2(D+1 3

x+2 132 3120

domain Jlaxl (ara (A SN G slhadll (33at 3 yiall oda
ol L 13
1
(-o,=2) or [-5,»)

s A o2 domain Jase O ol Leaalas) 24l Al (piiliadia oy 5 Laa

1
Df= (—o,-2)U [_E»Oo)

0588 Tl Wil s e e Tl 5l s ge pliall b e Jawall (g Jalailly 450 45 Ll
¢ ba sl G ge dandll £l

2x+1>0and x+2 >0 or2x+1<0and x+2<0
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1
2x+120,x2—§ andx+2>0,x > -2

1

1
_ng:[—z,oo> and—Z <x=(_2 ’OO)

2 mrnl-2o)=] 3o

Ol c el axall 24l ¢ AS il jualic aa g (IS 1Y) ¢ adaliil) b Gl Juadll e SN
Ol o SY

22 2l e ST Cacal (alls aaally e cpiiladd) Uia

Or

1

2x+1S0,xS—§ and x+2<0,x < -2

1 1
xs—§=<—00,—z] and x < —2=(—o00,-2)

(—e,=2)n(=e,=3|=(-e,-2)
Laguaii (gl s -2 g -2 5 Cal (aalls G (ol o) (p jra¥) sl Ui
s domain Jal 13

D¢ —[——,00> or (—,-2)= [—%,oo)u(—oo,—Z)

1
= (—0,-2)ul|-=,
(=e0,=2) [ 2 °°>
AUB=BUA Y5 Gl ) bl el of e salall cija
Vx + 4x

6 fW =3
Ll e
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aliall e
x3—x=0, x(x*—-1) =0 ,x(x—1Dx+1)=0
x=0orx=1orx=-1
x >0, x+1
O<xandx #1 =(0,1)U(1,0)

1 3t2 -1 5

37. f(t) = 3—t—2 = > , t+0,t°>0
32-130 62> (> |2 f<— |2
= ’ _3, = 13 or s 3

t<— |2 Loy
= 3 or =
1 1
Dy —<—oo,—\/; \/; , oo)

38. f(t) = V1 —t2

U

Agaall e Y e Jiaall |l Gl Yy plia Vs a5 D 20 Y

Dy = (=00 ,)

2
39. g(W)=m Ww—1=0,w=1

Dy=(—0,1)U(1l,0)={w:wisrealandw # 1}
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2w — 8

40. g(w) = W2_16 "'

Dy=(—0,-4)U(—4,4)U(4,»)

w2 —-16=0,w?=16,w = +4

w-—1
41. gw) = —

wZ—w—6
w2—w—-6=0, (w=3)w+2)=0,w=30rw=-2
3 52 lagl maly -1 legran Jualas -6 Lage pn Juala laae
Dy=(-,-2)U(-2,3)U(3,0)=R—{-23)

35 -2 ol gae Lo ddiall oY) aea

42. Determine which of the following define a function . Explain your reason for
any that do not define a function.

A (S5 Al () ) g W s L A ey (Y (e s 2aa
a. The domain consists of the number 2, which is assigned the number 4
4 2220 A e (A5 2 22ell (e O 5SE Jlaal)
{4}l {2} Waw (2,4) il z sl oe osSi Ao oda
b. The domain consists of the number 2, which is assigned the numbers 2 and 4.
A 52 Ghadlad e Al 2 23l e oS Jlal)
Cpdlide pde aa dasi y Jlaall B (31 2 2aall Gy Al Canad 2a

c. f(x) = +Vx not function f(1) = +1 (1,1),(1,-1)

d.. f(x) =xyx?+1 not function f(0) =+1 (0,1),(0,—1)
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—
X-1 forx<O0
e. glx) =< function
12x—-6 forx>0
N~
~
2-x*  forx<o0
f. oglx) =< function
X forx>0
N~
~
Ix + 1 for x <2
g alx) = < function
2x-7 for x =2
N~

A3 e ands O gal) IS 13 Gy puaml) & dim et A Galladd) (g o jisie 2 aall
g(x)=4x+1, g(2)=4(2)+1=9
gix)=2x-7, 9(2)=2(2°-7=2(8)-7=16-7=9

ala o A 4y Gl gal)
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2-3x for x < , g(1) = —1
h. g(x) =< not function

3x*-3 for x = g(1)=0

(1,-1),(1,0)
g(x)=2-3x, g(1)=2-3(1)) =2-3=-1

g(x)=3x"-3, g(1)=3(1)*-3=3-3=0

/
t’ fort rational
i. f(t) = < function

t  fort irrational

N~

43. In each of the following , determine whether fand g are the same
(A i 6T ) ool i lad g g f il 13) Lagd das by Lea JS 8
a. f(x)=1—x2 :g(x) =1—x2 for —2<x<5

not the same Dy =(—,0) , D,=(-2,5) Df+#D,

b. f(x) = \/3? ;9(x) = |x| ,the same \/; = |x]|

c. f(x)=+x forx=>0; g(x) =+x thesame
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g(x) =x isdefinedif x >0

0 =" =1 notth
.fx—x3_4x,gx— not the same
0-0 O
f(0) = 0-0-0 not defined ; g(0) =1 ;f(0) # g(0)
y =2l g0 =— t th
e. f(x _xz—l'gx)_x+1 not the same
D) ==L 2 ot defined, g(1) =+
f —1_1—0n0 efined, g =3
_x*—5x+6 B 3 . o
f. f(x)= oy ; gx) =x for x

0-0+6 6

not the same f(0) = 052 - 32

= 3;9(0) =-3

44. Find a formula for the function f that assigns to each x greater than - 1 the

number obtained by squaring x, then subtracting 2x and finally adding V2 .

2Xzob A, X e el aall 21 e ST xS s Gl f AN Aabaa aa
V2 ddla) 1l

fO)=x2=2x++V2 , x> -1

45. Find a formula for the function f that assigns to each nonnegative x the
number obtained by dividing x by 5, then taking the cube root of the quotient ,

and then multiplying the result by product of % and x? .
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Dl al L5 Lo x dand e il aaedl x Galle pe dae IS0 et 5 f Al il 2a

x5 1 e Jealay gl G 5 dandll GG
2

()_123x > 0
fx—zx z ,X =

46. Find a formula for the function A that expresses the area of a circle in terms
of the radius.

Dbl Caas AV 5 il dalise (e ol il A AdlAll ddalee 2 f

47. Find a formula for the function A that expresses the area of an equilateral
triangle in terms of the length of one of its sides.

ac Ol aal AV & a6 sluiall il dalise (e yued il A Alall Aalas 2a

S h s
1/2s
2 2 2 2
2 _ 12 _ 2. 3 2_2_5__3i
s“=h +( s) h+4 , h S 2 2
352 352 svV3
hzz—’hz =
4 4 2
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48. 4l anf AWy canSall aaa dlay) g8 Gaslhadll (o aie] (S1g G aill 138 agdl ol

let x be the length of an edge thenV = x3

49. A juice company produces 100,000 bottles daily and sells them for SR5,
assume that the total cost of producing one bottle is SR2.find the company 's
profit (in riyals) in terms of the number of working days.

Alall 4GS yrs o oy | VL) 5 e Alall i 5 T g Ade 100000 85 yiliac 48 5
el Al sae AV (JLll) A8l my 2l Jlby 2 Basl sl

Let x be number of working days

P(x)=5(100000)x — 2(100000) x = 500000 x — 200000 x = 300000 x

50. In the study of the response to acetylcoline by a frog' heart the formula

Arises ,where x denotes the concentration of the drug and c and d are positive
constants.

a. Find R(0) and R(2) . What is the physical significance of R(0)?
b. Find a formula that expresses the concentration x in terms of R(x).

Aabrall ((Cani ) @ Gl 68 JUipal) 3olal g adica (a8 Al 46 peal A jo 8

dnseculsi d s coselsll S5 S x Sua

R(0) (bl Gmall 5l ) 4l sl 4aaY) 4 W, R(2) 5 R(0) 2l
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R(x) AW x5Sl ge e dalas aa gl | o

a.R(0) = 0, RQ=

c+d0) ¢+ 2d
the physical significance of R(0) means that concentration of drugis 0 in

the study.

b.R(x) = ) R(x)(c+dx) =x, cR(x) + dxR(x) = x

c+dx
dxR(x) — x = —cR(x) , x(dR(x) — 1) = —cR(x)

—CR(x) —cR(x)  cR(x)

*T ARG -1 —(1—-dR() 1-dR(x) ARG # 1

QU (8125 9124 4ada (3.2) Cpukadll da
In Exercises 1 — 7 Determine which of the following functions define a polynomial

function . Explain your reason for any that do not define polynomial function .

Jgaa 3 S Alla (o <3

1. f(x) =3x"*+2x® +x72+13
Not polynomial function ,negative exponent
:\_\Sl.uwu.ui JP}JJA&).\SSM‘JM

2. g(x) = 5x% —x3 + x7 , polynomial function
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3. h(x) = x— >
. X)=X x

Not polynomial function , because the variable is in the denominator
Alaall & patiall 3ga gl 3 gan 3 S Ally Cu

4. k(x)=5 , polynomial function

x> —3x+2
5 f(x) = 7 —x

X2 — 6x

Not polynomial function , because the variable is in the denominator

Alall & puatiall 3ga sl 3 gan B K Alla Cad

4x8 + x3 _ _
6. g(x) = — - 4x° + x? , polynomial function
7. h(x) = x—2
T T T

Not polynomial function, because the variable is in the denominator

Alall & puatiall 3ga sl 3 gan B S Alla Cand

In exercises 8 — 17 , Find the domain of the following functions

Y sl e IS Jae 2 gl 17 — 8 gl 3

8. f(x) =3x>—2x*+4,  polynomial so Dy = R

9. f(x) =

, X = U, X = 4, =
X — 2 { }

Osad Y jaall Je daadll
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x+3
10. f(x)=x2—3x+2
alaal) Ja3 51 a5 gy alall 138 (5 e o yrd O 2 535 alie L]
x>—3x+2=0

s aladl ¢y 58 g pall Ja] Jelaill o Al Ayl Alsbae Jad G5l 536 Lyal alas LS
Al 45y Hhally 4 13) () sanan s @ s alall ) silally

Ol 138 Jie Ty alls 3 IR L Jilad) (oS5 s0le
+ 2 20l lag jia Juala cpae e Gaad WY 3 il g szl g Lin Julail) 48y jla o) culaa gl
=3l lage samay -1 5 -2 52 51 Ladd a2 daall dalse
Sl -15-2 Legl el

x2=3x+2=(x-1Dx-2)=0,x=1orx=2
@l a5 sl il maay 2 23ally Sl 1 02l x (e Gl sas Larie 1)

143 _
12 -3(1)+2

2+3 5 5

4 2 =
an()_ "

f = 22-3(2)+2 4-6+2 0

@A 1 sl k5 Y f(x) o @l ddda Tl bl fadad 5 5 jhadad 4 G el oS
Al sl flx) o @l 2 22ad) Jiddls adll e 23 Jiaally

) domain lellae e 2 51 (paasll Cadas O ey Al fx) 0585 Sl
Domainof f(x) = Df = {x:x ER,x # 1 and x # 2}
=R-{1,2}

=(-00,1)U(1,2)U(2,:)

1—2x°
x3 —9x2 + 20x

11. f(x) =
x3—9x2+20x=0,x(x>—9x+20)=0
x=0o0rx*—9x+20=0, (x—4)(x-5)=0

O glad (L Al Ayl Alsaa i a1 13
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X:5 ji )(:4 ji X:O \.A.J.K‘— OQSJL"‘“:’ e\&d\ TJ“

Domain=R-{0,4,5}

x—1

— T X +x+1=0
x“+x+1

12. f(x) =

A=b%—4(a)(c) =1-4(1)(1) = -3

Do (s b plBal) Jray s 2xe 2 Y (6l R a2 Y TN Qlle el

xX’+x+1 # 0 for any real number ,Df =R

13, F(x) = 2x —5

T = T3

lx+1]—-3 =0, Ix+1|=3,x+1=30rx+1= -3
X=2orx=-4

Domain=R-{-4,2}

2x* —3x+1
|12x — 4| + 1

14. f(x) =

|2x-4| +1=0, |2x-4| =-1
13 a6 s aliall Jray s de a0 Y 6l il g sl 5l (e ST dillaall 4l (K1
Domain=R

3x2—x+ 4
Vx =2

@l Al e OsS oaal cnile gl e sl s ey o) Lds Wl OY)

15. f(x) =

x>0

@ sl g Aladl ()5S e s i) Loy

Vi—2=0,yx=2,(Vvx) =4 ,x=4
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4 232)) sae Lo Al ye Agadall MY aea g Jlaall 13

Domain=D; =0<x andx #4=[0,4)U (4,0)

16. F(x) 3x2 —x+4
f(x) =
V2x —4—3
2x —4 =0, 2x =>4 x =2

13
V2x—4—-3=0 , V2x—4=3, 2x—4=9, x=7=6.5

Il
—
N |

NN
~—

C

—

o

8

j—

3 3
Domain = xzz andx¢4=§ <x,x#4

In exercises 18— 31, divide

audl 31 — 18 Gkl 4



18 20x* 4 x3 + 2x?
' 4x3

5x+l
4

4x3J 20x* + x3 + 2x?

—20x*

20x* + x3 + 2x? 1 2x2
43 B 4 43

23
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19 20x* + x3 + 40x?
' 10x

3,1 2
2x +10x + 4x

IOxJ 20x* + x3 + 40x2

—20x*
0 +2a3
— x3
0 + 40x?
—40x?
0

20x4+x3+40x2_ 23_|_1 2 4
10x BT

12z* + 24273 + 372
20.
6z
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273 + 472 +%z

6z J 12z*% + 24273 + 372

—12z*4
0 +2473
—2473
0 +37°
— 3272
0

12z* + 242° + 327 P |
o7 = 2z° +4z° + 2Z

10x* + 50x3 + 2x2
10x2




x2+5x+§

IOxZ] 10x* + 50x3 + 2x2

—10x*

0 +50x3

—50x3

0 + 2x?

—2 x?

0

10x4+50x3+2x2_ 2 s +1
10x2 STty

26
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4y3 — 2y%> -3

2y? — 1
2y -1
2y2—1] 4y3 — 2y% +0y — 3
— 4y3 + 2y
0 —2y% +2y
+2y? -1
0 +2y—4
4y% — 292 — 3 2y — 4
PoE g, ot
2y — 1 2y? — 1



x>+ 13x+32
x+5

x+ 8

x+5J x?> 4+ 13x+32

—x% —5x
0 +8x +32
—8x —140
0 —8

x% + 13 x+ 32
—x+8— ——
x+5 x+5

28
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y?—2y—5

2y—5] 2y3 —9y2 + 0y +15
_2y3 +5y2

0 —4y* +0y

+4y2 — 10y
0 —-10y +15
+10y —25
0 - 10
3 2
2y° —9y“° + 15=y2—2y—5— 10
2y —5 2y — 5

x*— 4x-—38
25.




x+4

x—8 x%? — 4x — 38

— x% + 8x
0 +4x —38
—4x +32
0 -6
x?— 4x—38 6
: - =x+4—m

457% + 56z + 19
9z + 4

30



31

52+ 4

9z+4] 45z% +56z + 19

—45z2 — 20z

0 +36z +19

—36z —16
0 + 3

4522+56z+19_5 4
9z + 4 =7 9z + 4

10x%2—-32x+49

27. 10x — 2
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x—3

10x — 2 10x% — 32x +9

—10x? +2x
0 —30x +9
+30x —6
0 +3
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2ud — 4ur +7u+7
uz+ 2u—1

2u — 8

u2+2u—1j 2ud — 4u? +7u +7

—2u® —4u®> +2u

0 —8u? +9u

+8u® +16u —8

0 +25u —1

2u3—4u2+7u+7_ 25u—1

—2u—8 +
w2 + 2u—1 " w2+ 2u—1

x* =4  (x+2)(x—-2)

29. —
x4+ 2 X+ 2

X —2



x+2] x* +0x — 4

—x%2 —2x
0 —2x —4
+2x +4
0 0

4v* +3v3 +2v +1

vi+ v+ 2

34



35

42—y =7

v2+v+2j 4v* + 3v3+ 0vi+ 2v

+1
—4p* — 4p3 — 8?2
0 —v3 —8p?
+v® +v? +2v
0 —=7v? +4v +1

+7v%2 +7v  +14

0 +11v + 15

4v*+ 303+ 2v  +1
v+ v+2

2 11v + 15
= 42-v -7 + ——
v2+ v+2

4x2 — 33x + 28
4x — 5
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x—7
4x—5J 4x%> —33x +28
—4x% 4 5x

0 —28x +28

+28x — 35
0 -7
4x2—33x+28_ ; 7
4x — 5 - X 4x — 5

In Exercises 32 —36 , Use long division to find the quotient Q(x) and

remainder R(x) of each rational function .

JR(x) Sl Q(x) Aol @ug;ﬁaﬁu\w\ paxiul 36 — 32 &Jw\‘;

A Al



37

, x3+ 15x% + 49x — 55

x+7
x*+ 8x—7
x+7J x3 + 15x* + 49x —55
—x3 — 7x?

0 +8x%> +49x

—8x% — 56x
0 —7x =55
+7x + 49
0 —6

Qx) = x*+ 8x—7

ROO= =37

x3 — 26x — 41
X+ 4
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x? —4x — 10
x+4] x3 +0x?2 — 26x —41

0 —4x? —26x
+4x? +16«x

0 —10x —41
+10x +40
0 -1

Q(x) = x> —4x —10

R(x) = — —

3x3 + 9x%2 — 64 x — 68
34.
x+6
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3x2 —9x—10
x+6] 3x3 + 9x2 — 64x —68

—3x3 — 18x2
0 —9x? —64x
+9x? +54«x
0 —10x —68
+10x +60
0 —8

Q(x) = 3x*> —9x—10

R(x) = ——

x+6

x3 — 46x + 22

35.
x+7
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x%— 7x+3

x+7J x3 +0x? —46x 422

—x3 — 7x?

0 —7x% —46x
+7x% + 49«

0 +3x + 22
—3x —21
0 +1

Q(x)= x*— 7x+3

R(x)=1

x4+ 2x*+ 6x—9
36.
x3+ 3
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x34 2x -3

x3 + 3] x® +0x°+2x*+0x34+0x24+6x —9

—x© — 3x3
0 + 2x* + 6x
—2x* — 6x
0 —3x3 0 -9
+3x3 +9

0 0 0 0 0 O 0

Q(x)= x3+ 2x-3

R(x)=0

In Exercises 37 — 41, write each rational function on the form

() = Q) + 2
x) =X RN
1 g(x)
Ja of Bally A Al K KT 41 — 37 Crokatl) S
R(x)
q(x) =Q(x) +

g(x)
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x3— x*—-16x+8
37.

x—4
x?+ 3x—4
x—4J x3 — x> —16x +8
—x3 + 4x?
0 +3x? —16x
—3x2 +12x
0 —4x +8
+4x —16
0 -8
x3— x?—16x+8 5 8
: po—) =x +3x—4—x_4

2x° —5x* + 7x3 + 4x%? — 10x + 11

38.
x34+2
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2x%— 5x +7
x3 +2J 2x° —5x* +7x3 +4x? —10x +11
—2x°> — 4x?
0 —5x* 0 —10x
+5x* + 10x
0 +7x3 0 +11
— 7x3 — 14
0 -3

2x°—5x*+7x3+4x%-10x+11 5
3 =2x"— 5x +7—
x342 x3+2

4x3 —21x% + 6x + 19
4x + 3
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x?— 6x+6
4x +3 J 4x3 —21x% + 6x  +19
—4x3 — 3x?
0 —24x?% +6x
+24x? + 18x

0 + 24x + 19

—24x —18

0 +1

80207+ 6x k19,
4x + 3 - g 4x +3

3x% +9x3 — 5x% — 6x+ 2
3x2 —2
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x*+ 3x —1

3x% — ZJ 3x* +9x3 —5x2 — 6x +2
—3x* + 2x?
0 +9x3 —3x2 —6x
— 9x3 + 6x
0 — 3x? 0 +2
+3x2 —2
0 0

3x*+9x3 — 5x%2 — 6x+2
3x2 -2

= x4+ 3x —1

R(x)=0

41 x*— 13x — 42
" x2—x +5
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x4+ x—4
xz—x+5J x*4+0x3 4+ 0x? — 13x —42

—x* +x3 — 5x?

0 +x3 — 5x% —13x

—x3 + x? —5x

0 —4x% —18x —142
+4x%2 —4x +20
0 —22x —22

x4—13x—42_ 2 4 4 22x + 22
x2—x +5 - x2—x+5

2 138 5137 4a8a EXERCISES ( 3.3 ) cnol

N
In Exercises 1—23 sketch the graph of the function .

A Jmie auyl 23 -1 cpolall &
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1. f(x)=2x—-6 or y=2x-6
painsey Loghoai o Jadh (i (ppad O (S Lgams ) AN ofiine Allaa (& (A5Y) Anal) Alalas
Ledic X saephiys x=0 OsSiledic ¥ )eaaadaty Al any o sl | cigall e oaa
(0,-6)5 (3,0) oihall au s y=0 o<

X| 0] 3| Domain=(-=, ) = Jdaul

Y| -6|0 | Range = (-, © )=l

Lol gl 5 dstail i bl 130 i uiipadl s
dojala il dalll A1 Jas s

sl Tage |

',.{)]IC_.M|1ZES]IL]_=J:G.MG.M‘

Roran Lo

2. f(x)=3x—6 ,x<2 =(-=,2)
48 jia b il Laie L g SN o )l Gaca ol (12, 0 ) Adaiil) () Laa Y

(Eiiee 2ans LS\ Cp il & b2e Domain Jlaall Lia

X| 0| 2| Domain=x<2=(-°,2) = Jxl




Y -6 O

48

Range =(-,0) =l

b3 0l 35 o] i vl b b il s
dojula i dalll U g

ol o | 459 A o |

Tage ALt

Domain = Range = R = Jlall = a4l
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bl 3 il ) botucl i il 38 A puisdl goia
da el sl ) s

,,MJJ\C.M|L_L—,&|\¢L5.MM|

Lags At

4. h(x)=-3 ory=-3



xl ol 100

1
w

Yl—3l 3

50

Domain =R

Range={-3}

bl 3 ) datot] 1 adtieeal 13 A il i
Ll el ) Jas

il o | B0 i o |

e G}

\ 4

5. f(x) = 2x*+ 3



——

51

Domain =R

Range=[3, «)

f

T
h"“-—-—.-.

Lol 5 il 25 k] i bl s il g
dojula il dall ) Jas

2(4(2) ) +

el T ‘

,wﬂﬂm‘z_ml@:mw

Tuge ALt ‘

Domain =R

Range =(-%,-1]
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Lol gLl ) bl g il D 4 puipall g
sl A Jes

-2 ge )1

el o | BB i o |

o GIL_l}

Domain = x 8

7. f(x) =x*—-5x+1

X

0

1

, Range =y p#

2

, X=20 ,Domain=[0,00)

3

Y

1

-3

-5

-5
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RN
|6 @)-st9+1
el o | BB i o |
Lgs Sl
d—y=2x—5 2x—5=0 x=E
dx ’ ’ 2
(3= -5 @er- 3%
2 2 2 4 4 4
21
T
21
Rangez[—r,oo>
O 6l Gland) ) anal (53] 50 piesn 98 S lA) e ulaall Lia g niall (ulaall e s dGidall S
S (g sk 4l

8.y=lx|, for —2 <x<3
Domain=[-2,3] , Range=[0, 3]

X -2 | -1 0 1 3

Y 2 1 0 1 3
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el & i ) deadl i i i A puipdl s
Ll s e

el oo | B i o |

Logo Al _aled

9. glx) = =2|x+ 1|+ 2

X

-2

-1

0

2 Domain=R

Y

0

2

0

-4
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lx+1]=0,-2|x+1| <0 ,-2|x+1|+2<2

y= —2|x+1|+2<2 ,Range = (—,2]

b 3 )l 5 ) bl 0 bl 138 A pipdl 2
dajulsitll aalll ) s &

o o | 459 Q3 o |

Lo Gl

10. y =4 — x?

4—x2>0, 4>x% x<2,x>-2
Domain=[-2,2] range=[0,2]

| 2] o o
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el & i ) deadl i i i A puipdl s
djdadyiasll ) Jes

(4= 02 P2

ﬂjww|am\mw|

Logo Al _aled

11. f(x)=]1-2x]|
Domain=R

y=I1-2x|=z0, 0<y=[0,)=Range
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bl 5l 2d bl o bl fds A puall s
dopulaifl aall A Jas

el o | BB i o |

o GIL_l}

12. y=+x2-1
x>—=1>20, x?>1, x=>1 or x< —1

Domain = (—o0,—1 ] U[1,0)
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a8 gl 2d bl o bl fds A puall s
dopulaifl aall A Jas

40 11172

el o | BB i o |

o GIL_l}

13. f(x) = |2x — 6|
Domain=R

y=12x—6|/=0 , Range =[0,00)
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Lealll o Ul ) besal i il 13 A puipdl o
Ao juladll sl ) g

,,MJJ\C.M|L_L—,&|\¢L5.MM|

Lags At

Domain = R —{—}

1
2

3000000
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1
2000000

y -z -1 -3 3 =

0 2aall o iy o gl Tan Tan 8 pia (sS5 y (8 Tan Tan 3508 x (050 Ladie il JaaY
O sl 4 ¥ SV

Range=R-{0}

el 3 Ul ) sl s e i A paipd s
Ao jula sl 0 Jas

\@)tx-)

il o | 20 b o |

e G}

1
15f(x>=m ) x—1=0,x=1

Domain =R - {1}

X ‘ -4 ‘ -1 ‘ 0 ‘ 1 ‘ 2000000
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1
2000000

<
|

] R
I

N | R
|
—_
)
I

0 el o iy o gl Tan Tan 8 pia sS5 y (8 Tan Tan 308 x (050 Ladie il JaaY
O sl 4 ¥ SV
Range=R-{0}

Ll 5 Ll 2y el s A piadl g
o ula il sl ) g

(1)

w}|cm|amldemmﬁm|

Luge ALl

16. xy= -6 , y= —

Domain =R - {0}

X ‘ -6 ‘ -1 ‘ 0 ‘ 1 ‘ 6 ‘ 2000000
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1
? — — ~ __
y 1 6 ) 6 1 = 2000000

0 2aall o iy o gl Tan Tan 8 pia (sS5 y (8 Tan Tan 3508 x (050 Ladie il JaaY
O sl 4 ¥ SV
Range=R-{0}

Ll 5 il i o ) 1 A i g
sl sl ) g

-ty

ijcm|:4mw¢mm&m|

Luge ALl

17. x = y?
y=tvx , x>0
Domain =[0,)

X‘O 1 4 9

y‘O +1 | +2 | +3
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Range =R

Lol 5 il ) bl i vl 1 A puipall
il aalll ) Jaa

(91720

ijcm|:4mw¢mm&m|

Luge ALl

18. f(x) = x3 + 4x
Polynomial Domain = Range = R = sl = Jlawll a0 5,0

X -2 -1 O 1 2

Y | -16 -5 0 5 16




———

64

Lol 5 il ) bl i vl 1 A puipall
il aalll ) Jaa

|63 49

ijcm|:4mw¢mm&m|

Luge ALl

19. f(x) = —x3+ 1

Polynomial Domain = Range = R = sl = Jlawll a0 5,0

X

-2

-1

0

1

2

Y

9

2

1

0

-7
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: bl 3 5 ) ] i b 138 A i g
® - il aalll ) Jaa

() +1

ijcm|:4mw¢mm&m|

Luge ALl

x for x <0

20. f(x) =

2x for x =20

Domain = Range = (— o, )
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X -4 -1  for x<0

Y| -4 -1
x| 0|3 forx =0
y 0 6

bl ¢ il j b i sl (38 A pisd s
Ao el Al ) s

ol oo | B0 bt o |

Laga St

21. f(x) =Vi4x+1 ) x=—

1
Domain = | — ~ ,
omaitn [ 4 OO)
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Range =[0,)

)
|
AN
o
[}

Lealll o Ul ) besal i il 13 A puipdl o
da el sl ) s

@1y (172)

,,MJJ\C.M|L_L—,&|\¢L5.MM|

Lags At

.
x? for 0<x <2

22, f(x) =
4 for x > 2

\
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x| 0|1} 2 for 0<x<?2

x| 3 5 for x> 2

Domain =[0,00) Range =][0,4]

ol 0 S ) ) bl i el 1 A pipll g
A jalal sl ) e

)

ol oo | 209 it g |

TLogo Lol
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Domain =[4,0), Range =[0,)

Lol 8 gLl ) bl g il D 4 puipall g
Ll ) Jes

6ty 2

| |

o GIL_l}

In exercises 24 - 28 , Determine which of the following curves represent a
graph of a function . Explain your reason for any that do not define a function.

oy Y et oY s a4l )y Jig 45V Glisiall e gl 238 28 — 24 (il 8
Calla
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Dhia) aasind | Yl Ay any ga Ja Jlass Gony axi Ladie (ol AuY) (e g il 138 Jia
chi (y osne s e ) ouil ) aiise (5 IS 13 (4l vertical line test ol ) asiosdl)

24,

Ala Jiay ¥ an,ll Gl sas g ddads (e ST 8 Cprall s )l

bl 0 Sl ) ) bl i el 1 A pipll
A juladl sl ) g

ol o | B8 b o |

Logo Lol

Function 4la

25.

bh\jh@&)ﬁj\é&d@}@»i)@éi
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Lol gLl ) bl g il D 4 puipall g
sl A Jes

|62 6) -6t @962

el o | BB i o |

o GIL_l}

Function 4la

26.

san) g Adai 8 W) )l il () s ji ol aisa s
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bl 0 ) faial i kel 13 A pipall g
da el sl ) s

,,MJJ\C.M|L_L—,&|\¢L5.MM|

Lags At

Not function 4la cud

27.

Llal (e Ales Y Lasd A ity sl ) asfione dusdi 5o
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bl 5l 2d bl o bl fds A puall s
dopulaifl aall A Jas

A

v

el o | BB i o |

o GIL_l}

Function 4la

28.
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bl 8 S ) datl i bl 1 A pipedl s
Ao juladfl sl A Jas

el oo | B i o |

Logo Al _aled

Not function  4lla Cau

Ol o oiline (pilas vie (KA adaly Cogud JSAI JA1 iy ol ) aiiose (g e 13) adf Laa

In Exercises 29 - 41 , sketch the graph of the equation . In each case
determine whether the graph is that of a function.
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Y Al A a9 anll G g 8 A JS 3 Al e syl 41 — 29 ol &

29. x2 + y? =1

wulfl JJIL\'ll.I ul'e.m! ?JMI m,_,.i
da el dalll

(1~ (B 2)

)l E

sl o | BN

Taga A

AR

Not function

Al Ll sl ) sl Y Ao cads 1 Wl Chuai g Jua) dda L3S ye 5 il Alales

30. x2+y2=9

| i (il a5l aly
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bl 3 gl ) datal o Jdaaall i A iyl pua

el sl I e

el o | BB i o |

ah
N

Not function

Al Sl sl ) aieall GV A s 3 Wkl Caiaig Jual) ddati W S a5 ila Aldlase
. .;“S.n .;.I ., & B):\‘JM l ~~~.

3. x2+ y*=9 for x=0
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bl 0 ) faial i kel 13 A pipall g
da el sl ) s

- (9 62) 1 (172)

,,MJJ\C.M|L_L—,&|\¢L5.MM|

Lags At

Not function

Dl sl ainall Y Al cad s 3 Wkl Caiai g Jual) ddadi W S a5 0 Caial Alalase
- Ofiline (pilals (83 il e a1l

32. x2+ y2 =4 fory<0
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Lol gLl ) bl g il D 4 puipall g
sl A Jes

(-0 ) )

el o | BB i o |

o GIL_l}

Function 4la

33. x>+ y2 =0




bl 35U ) bl a0 ol 13 b gl g
A pula il sl s

Pl tas0 |

o e | 3590 Qb e |

Taga AL__les

Function, Domain ={0} and Range={0}
Function=(0,0)

ClilaaYl 8 Jual) ddis o saal g adads e (4S5 Al
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bl 8 S ) datl i bl 1 A pipedl s
Ao jula 1 sl A Jas

(59042

el oo | B s o |

o G}

Not function
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35. y=x2 for x<0

bt 0l ) j bl 1 Jabrieaall 10 A piaall
do ol aalll ) Jga

®()

,w,ntm|sd_mw¢mmw|

Lags St

Function
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bl 3 gl ) datal o Jdaaall i A iyl pua
sl A Jes

el o | BB i o |

o GIL_l}

Not function (3,3),(3,-3)



83

bl 5 gLl ) ) doas] bl 13 A iyl s
dopulaifl aall A Jas

| i)

el oo | B i o |

Logo Al _aled

function
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38. |x| = |yl

bl 0 ) ] i bl 1 A i i
o el aalll ) Jas

, || |

el o | B i o |

Not function
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39. xy=0

x=0 ory=0 or x=0andy =0
X=0 ,y s~

Y=0 , X L=

X=0 and y=0 (0,0 ) dwa¥! ik

1)

xy=0 (nsaal

bl 3 ) datot] 1 adtieeal 13 A il i
Ll el ) Jas

| ﬂj\@m|@ww¢mmw|
Lugs AL__agles
< o
D [

Not function
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40. |x| + |y| = 1
B 1 anall (5l el Jusls (S S

—1<x<land —1<y<1

x | —1 0 0 1
y 0 -1 1 0
(0,1)
(-1.0 1,0)
(01'1)
Not function
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41. |x|+ |yl =0
|x] =0 and |y| =0 so |x|+|y|=0, x=y=0,
(0,0) Jdua¥) ik

function
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